gobooogoobogon

0402-818

Safety skid set

00000000000000000000000000000000000000
0o0oo0oooooooooooog

Thank you for your purchasing our Safety skid set.

For assembling the set, refer to the following instructions.

1 |[(BO00000000 M30O00000
Skid Foot Installation M3 nylon nut

00O00O0obOOo0ooOobooooo+2000
Shuttle plus and Shuttle plus +2 '

© E

V) @I 1 O IR —— 4

M3ODOOODOOO e 4
M3 nylon nut

(©) |

B3XOXTEW -ooveevsvnemnnsininnans 4
\- J

ooobooooooboo
Antenna guide tube

0402-821
ooooood
Skid foot

M3X20CS

#3X9X1FW $3XOXIFW

M3X20CS gooooooooad
Be careful of the

mounting direction.

O0OOEVOO OO
Sceadu EVO

M3oDoOoOoOoOoO
M3 nylon nut

M3OOOOOODO e 2
M3 nylon nut

ooooooooooo
Antenna guide tube

M3oDooooooogg -2
M3 nylon nut thin thpe

T M3000000000
M3 nylon nut thin type

0402-821
goooooo
Skid foot
B3XOXTFW -ooeereerieiininiinns 4
. J

M3X20CS

#3X9X1FW #3X9X1FW

M3X18CS goooooooao
Be careful of the

mounting direction.




2 oo0ooooooooooon
Safety Skid Installation

4 \ 1/00000000000000000000001000000000000000000000000
00100000000000000000000000
2 0000000A, BOOOOODOOOOO0O0OOOOOODOOODOOOOOOOOO0OOOOODODOODOO
oooo
N sioooooooooOoooOoOooOoOoOoOoOoOoOoOoOoOoOoOOoOooOoOnn
@ 1.[Please be sure to set the foot pivot (A), (B) in order for the groove on the top to be vertical to the skid pipe. Please
M3OOOODODODO eeeeeees 4 refer to fig. 1 for direction of foot pivot.
M3 nylon nut 2.[Attach each of the safety skid pipes to the slider plate so that the foot pivots A and B are positioned, respectively, as
- J shown in the drawing.

3.lInsert the foot pivots in the skid foots and fix each with a snap pin.

oooooooAa o0o00ooooB
Foot pivot A Foot pivot B
T 0402-822
oooooao
Snap pin

oooooooooooo
Direction of slider plate 00O0O0O0O0OOB

Foot pivot B

0400000000
O Insert in 4 places.

oo0o0oo0oooB
Foot pivot B

M3OOOOOOO

goooooo
Foot pivot M3 nylon nut
01
Fig-1 M3X25CS
0402-819
ooooooooog
Slider plate
g M5X18TS-2
goooooopooo 0402-820
Q‘§ Center damper rubber gooooooooooooooo
Safety skid pipe set
gooobooooo
Slider plate
oooooo
Hint

ooboooooooooboobooooboOoooooOoooooooOooonog
oooooooobooooboobboooUoboobooboooooo

Bind hole and the snap pin with a string as shown in the drawing. It will help prevent the
snap pin to be lost. Otherwise, the snap pin may be inserted in the hole directly.

* The prices in parentheses are the prices excluding consumption tax.

000 No. 00 00 b ohoom oo

Code No. Particulars Q'ty Price (Yen) Remarks
ooooooooo 525 ooooooo

0402-819 | glider plate 1 (500) With screws and nuts

0402-820 goooooooooooobooo 10 735 9740000

s Safety skid pipe set 1 set (700) With ¢74 balls

goooooo 1,050 gooooooo

0402-821 | §yid foot 2 (1,000) With foot pivots
oooooo 315

0402-822 Snap pin 2 (300)

ﬁ?:’ﬁi'C“fEB<EIE\0)72'Bz'4— O

- = HIRO30 LImieo

|:DI \ *;R:TKE*I 3-3-1 SAKURAGAOKA, FUCHU-SHI,
LBRRPM&EDES-3-1 T726-0006 HIROSHIMA-PREF,JAPAN T726-0006

TEL:(0847)40-0088 () FAX:47-6108  TEL:81-847-40-0088 FAX:81-847-47-6108
HIROBO0 http:/model.hirobo.co.jp/ http://model.hirobo.co.jp/english/




